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Quiz 4c (20 points)






March 9, 2006
All work must be shown to receive credit.  Use dimensional analysis for calculations.

Avogadro’s Number = 6.022 x 1023/mol

1.  (3 points) What is the molar mass of a molecule of hexanoic acid, C6H12O2?
2. (3 points) How many atoms of carbon are in 50 molecules of hexanoic acid?
3. (3 points) How many moles of hydrogen are in 3.22 moles of hexanoic acid?
4. (3 points) How many moles of hexanoic acid are in 10.0 grams of hexanoic acid?
5. (4 points) How many molecules of hexanoic acid are in a 5.83 mole sample of hexanoic acid?
6. (4 points) What is the mass of 3.64 x 1024 molecules of hexanoic acid?
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All work must be shown to receive credit.  Use dimensional analysis for calculations.

Avogadro’s Number = 6.022 x 1023/mol

1.  (3 points) What is the molar mass of a molecule of hexanoic acid, C6H12O2?
2. (3 points) How many atoms of carbon are in 60 molecules of hexanoic acid?
3. (3 points) How many moles of hydrogen are in 5.17 moles of hexanoic acid?
4. (3 points) How many moles of hexanoic acid are in 15.0 grams of hexanoic acid?
5. (4 points) How many molecules of hexanoic acid are in a 3.06 mole sample of hexanoic acid?
7. (4 points) What is the mass of 3.64 x 1024 molecules of hexanoic acid?

